(K4 (HFEAEFE2IEE4S

5. BESRUEISER)

(4) AL - 2RISR =

I = & R S ® 18 N % % £ T = A& A B [FR2255R108
I % 8 B |%2sA
A AF K |- N 8B B £ I =2 % 2 % B 4% % A |Rem
B = ERYXRFBESR.B.XFAORB. ENEHERIS 7 Al EEgE—K
18 B AW | 2B AWL|E3BB A1
x F & A £ 8 |IEMEZ| A L & % [IEG|] A L £ #F |IEX s il
Aoy — 27,477,000 1 %Al
BRASHETFER 29,900,000 4
BAESHRKEET 28,000,000 2
H_ASHXEHE 31,000,000 5
BRI EHRARH 32,000,000 6
FEELRITHRAEH 3]
REEXRTITEMA S 35,000,000 7
RRZBETIEKRARH 29,000,000 3
2w e = 4 £ %fr\_% **Eﬁ‘%‘*i’r{/‘/—d_
F AT [FERBAEEHXRE6—11—16
Z #H & E 28,850,850
¥ OE MO 30,229,500
2 TR 95.4%




